Hormone Cycle in Bovine to create Esto-Syncronization.

Initially farmers will treat their cows with progesterone
(Remember that progesterone inhibits FSH, and that it can be used in contraceptive pills)
(
Farmers will stop treatment with all cows at the same time
(
The reduction of progesterone will cause an increase in FSH, as it is no longer inhibited.  This allows the cows to start their oestrous cycle at the same time i.e. the cows will now be synchronised
(
Follicles will all develop at the same time
(
Farmers will inject the cow (generally one cow, - usually the one with the best features to pass onto the next generation) with a mixture of FSH and LH.  Farmers work out the hormone dose, so that the cow can be made to produce a large number of egg cells
(
Females follicles in her ovaries develop and ovulation occurs
(
When the female comes into oestrous (ovulation), she is artificially inseminated, with the ‘best bulls’ sperm
(
Egg cells are fertilised and start to develop into embryos
(
6-8 days later, the embryos are removed
(
The embryos developing normally are transferred to other cows, which will act as surrogate mothers.  It is important that the recipient cows and the donor cow are synchronised or the uterus will not be in a suitable condition for the embryos to implant.

